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function [sol] = mmSolve_linSys (A, b,V, prm_isol)
% [H%8E]
% CONRiETHRFEAEXZEHELC
% [AA]
% A o E7>
% b BEANY ML
% v_tmp BET—4
% prm_isol VILINDINS A — B DIEEAR
% alp ZEERKEEICE D CEAHMEHIER R
% dth FREXEECRERE
% dn ARXEZHAIFEKEBEYRLEH
% [HA]
% sol B ARERXDORE
0
fprintf ( Inverse Solution : ¥n').
%% A—AhILEH
M=size(A 1); % AREXDOHK
N=size(A 2); % EHDOEK
dth=prm_isol. tol;
dn=prm_isol.maxiter;
for iP=1:M/2
v_tmp (iPx2-1) = real (V(iP));
v_tmp (iPx2) = imag(V(iP)):
end
err_PHY=sqrt (sum(b. *conj (b)) . /sum (v_tmp. *conj (v_tmp))) ;

g=prm_isol.alpx(1/Nxtrace (A" *A))*xerr_PHY. "2;
Q=A" xA+gxeye (N) ;

DD=diag(Q) ;

DD=DD. "-1;

DD=diag (DD) ;

Qt=DD*Q;

c=A"*b;

ct=DDx*c;

sol=bicgstab (Qt, ct, dth, dn) ;

end



